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EH2A 2 A4t 8,461,202 8,567,206 A 106,004
= 694,353 769,728 NT5,375
2 600,000 600,000 0
& 220,621 240,434 AN 19,813
o 6,946,228 6,957,044 A 10,816
SIABN (B EES/8d 85 72,632 76,130 A 3,498
& 3,200 3,200 0
o 69,432 72,930 N 3,498
SHAAIR 22| 72,632 76,130 A 3,498
c 3,200 3,200 0
o 69,432 72,930 N 3,498
SAANH 29 66,232 69,730 A 3,498
201 LBEt2AY| 23,657 25,730 AN2,073
01 At 2t2ld] 14,157 15,730 A 1,573
OdBre=H| 10,917,000& 10,917 12,130 A1,213
Ol =l 540,000 540 600 B0
O=&| 2,700,000 2,700 3,000 A300
02 2239t 9,500 10,000 AB00
O2Z22Z2Y A 8,550,000 8,550 9,000 AN450
OXF &k 8| 950,000 950 1,000 AB0
202 O4H] 12,825 14,250 N 1,425
01 2Wobl 12,825 14,250 N1,425
OtAFAH A2 =X 12,825,000 12,825 14,250 AN1,425
308 KXIXIHAMSOIA 0 15,000 A 15,000
08 JIEIREZ2 0 15,000 A 15,000
02010 2AIJIA HIE& A HaEE X4
ANZBEES(U=2A) 0 0 15,000 A 15,000
403 NXISHHS K20l 15,000 0 15,000
02 Z2I| &S0 HSHCHEAFS HI 15,000 0 15,000
02010 2A4IJIA HIE& A HaEHE X4
ANZBEEdS(U=2AH) 15,000,000 15,000 0 15,000
oIstZ2ME (P B ES /D) 12,000 12,000 0
= 6,000 6,000 0
o 6,000 6,000 0
ISR A R 12,000 12,000 0
= 6,000 6,000 0
o 6,000 6,000 0
JZEHsE M2 U Z201AA XA 12,000 12,000 0
= 6,000 6,000 0
o 6,000 6,000 0
301 Lt A=z 2,400 2,400 0
= 1,200 1,200 0
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10 SAAHIS A S 2,400 0 2,400

O=HI2 A 2,400 0 2,400
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2,400,000% 2,400 0 2,400

= 1,200 0 1,200

= 1,200 0 1,200

12 JIEtR A 0 2,400 A2,400

O=HI2 EAHY 0 2,400 A2,400
—Jee H=2Y)

02 0 2,400 A2,400

= 0 1,200 A 1,200

= 0 1,200 A 1,200
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z 2,304,034 2,307,263 16,771

30l 2y L s 712,722 723,730 A 11,008

3 21,700 27,750 16,050

= 691,022 695,980 4,958

SorpIEAE A 27,500 30,000 A2,500

= 7,500 8,750 A 1,250

= 20,000 21,250 A 1,250

206 TH2HI 27,500 30,000 A2,500

= 7,500 8,750 A 1,250

= 20,000 21,250 A 1,250

01 MEH 27,500 30,000 A2,500

OZHI2E A 15,000 17,500 A2,500

— =0t 15,000,00084 15,000 17,500 A2,500

= 7,500 8,750 A 1,250

= 7,500 8,750 A 1,250

SHBHYIY =) 229,200 234,000 14,800

3 14,200 19,000 14,800

= 215,000 215,000 0

301 LptBAZ 229,200 234,000 14,800

= 14,200 19,000 14,800

= 215,000 215,000 0

12 JIEtR A S 229,200 234,000 14,800
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MY KRS & 222,832 225,480 12,648

201 ety 27,240 29,600 £2,360
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201 Et24d| 9,540 10,600 A 1,060
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Oget=2H| 8,730,000& 8,730 9,700 AN970
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HOIZ2Xe2lAlE 1,633,012 1,611,283 21,729
HIIS Xl Ald 2tel 1,543,012 1,521,283 21,729
201 B4 | 115,557 123,590 A8,033
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Odtt2H| 32,040,000 32,040 35,600 A 3,560
O3 &l 1,323,000& 1,323 1,470 N147
02 =294l 82,194 86,520 N4, 326
O2Z2222HA 82,194,000& 82,194 86,520 N4 ,326
202 04l 2,146 2,384 N 238
01 2L odb] 2,146 2,384 A 238
OHIISHelAIA N
2,146,000 2,146 2,384 N 238
207 A FoHE| 15,000 35,000 20,000
01 A2EYH| 15,000 35,000 A 20,000
OHIIZSHel A& &2 03 0 20,000 A 20,000
401 AlEHIZLL20H] 282,600 232,600 50,000
01 Al&H| 282,168 232,168 50,000
OHJISH™HlAIA | 197,600 147,600 50,000
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2 MENH SEES(BHES/AAH) 2,468,869 2,565,710 AN96,841
= 14,790 90, 165 NT5,375
= 600,000 600,000 0
= 195,721 209,484 N 13,763
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o Y MEjEAE B35 2,468,869 2,565,710 N96,841
= 14,790 90, 165 NT75,375
= 600,000 600,000 0
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O=tlg 0 98,405 98,405
-2 )BIIZAMY 0 0 98,405 98,405
2 0 68,885 /68,885
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HRet s kR 37,392 38,020 1628
101 Q121 13,960 13,440 520
04 JI2HHIZ 13,960 13,440 520
OXtelg 520 0 520
—2010 520,000% 520 0 520
201 Ypred 7,560 8,400 840
01 ARzl 7,560 8,400 1840
Ogera 4,050,000 4,050 4,500 £450
OLIPE] 2,700,0002! 2,700 3,000 £300
ozl 810,0002 810 900 £90
202 01| 2,772 3,080 £308
01 =UHOiI 2,772 3,080 308
OME st R Yoz 2,772,002 2,772 3,080 308
MES 25 8, 144 8,660 A516
01 Leregy 2,232 2,480 £248
01 ARzl 2,232 2,480 £248
Ogera 1,350,000 1,350 1,500 A 150
osy+ 882,0002 882 980 ~98
202 OfH| 2,412 2,680 268
01 2UH0iI 2,412 2,680 1268
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2,412,009 2,412 2,680 £.268
MEZS o 2 33,753 66,945 133,192
= 8,326 18,284 19,958
= 25,427 48,661 £23,234
301 Yetas 33,753 66,945 133,192
= 8,326 18,284 19,958
2 25,427 48,661 123,234
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= 14,790 21,280 N6,490
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= 37,395 41,200 A3,805
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= 14,790 21,280 A6,490

S 7,395 11,200 A3,805
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Xl 29,580,000& 29,580 43,680 A 14,100

= 14,790 21,280 N6,490
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= 7,395 11,200 A3,805
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= 673,563 673,563 0

= 2,548,536 2,567,882 19,346

2a el 3,222,099 3,241,445 N 19,346

= 673,563 673,563 0

= 2,548,536 2,567,882 19,346

SSeEY 7Rzl 202,463 205,050 N2,587

201 LetEE] 28,343 30,770 N2,427

01 AtR2teld] 15,993 17,770 AN, TTT

Ogt==2H| 15,426,000& 15,426 17,140 AN1,714
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02 23223l 12,350 13,000 650

OS2 2=2AA 12,350,000& 12,350 13,000 AB50

202 Oddl 1,440 1,600 A 160

01 SUHHYI 1,440 1,600 A 160

S A& 84 dRF8 1,440,000 1,440 1,600 A 160

elot=HMelAl& &X X& 136,902 145,457 A8,555

= 85,563 85,563 0

= 51,339 59,894 A\8,555

402 22b =01 136,902 145,457 A\8,555

= 85,563 85,563 0

= 51,339 59,894 A\8,555

01 2IEAEE X 136,902 145,457 A\8,555

O3HIEXZAE 136,902 145,457 A\8,555
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01 AtR2teld] 13,950 15,500 A 1,550
Og =2t 12,060,000& 12,060 13,400 A1,340
O=&tl 1,890,000 1,890 2,100 A210
02 3323l 248,910 262,010 A 13,100
O3=223<HA 248,910,000& 248,910 262,010 213,100
202 O 4,666 5,184 A518
01 2o 4,666 5,184 A518
O=HelAld 22| GRF2 1,800,000 1,800 2,000 A 200
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2,866,000 2,866 3,184 A318
405 AHatH S 88,000 80,000 8,000
01 ML ESFHSHI 88,000 80,000 8,000
ElHlgtAlE 2E&EHl 2 88,000 80,000 8,000
—AJEZEH 38,000,000 38,000 30,000 8,000
XNolss2a+HelAld 2tel 27,124 28,160 A 1,036
201 EHRHH| 14,844 15,760 A916
01 AtR2teld] 2,304 2,560 N 256
Ogt==2H| 2,304,000 2,304 2,560 N 256
02 33223l 12,540 13,200 A 660
O3323a LA 12,540,000 12,540 13,200 A 660
202 04 1,080 1,200 A120
01 2O 1,080 1,200 A120
O2eHelAled el PRFH 1,080,000 1,080 1,200 A120
AE - M 2| (BAH/ASACA) 56,098 59,048 A2,950
P A OFAM 2te| 56,098 59,048 A2,950
AHITRAMZAIR 2F 9,312 9,480 A 168
202 o4 1,512 1,680 2168
01 2O 1,512 1,680 A 168
OAHIX AZAM ZAl 28 1,512,000& 1,512 1,680 2168
AEZEIZESHA Az 46,786 49,568 N2,782
201 EHRHH| 18,000 20,000 A2,000
01 AtR2teld] 18,000 20,000 A2,000
Ogt==2H| 15,300,000 15,300 17,000 21,700
O=&tl 2,700,000& 2,700 3,000 A300
202 O] 7,042 7,824 AT82
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Jl=AH| 20,880 23,200 A2,320
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201 LEt2HH| 10,080 11,200 A1,120
01 AFRZ2lH] 10,080 11,200 A1,120
OgBta=2H| 10,080, 000 10,080 11,200 A1,120
202 OfH] 10,800 12,000 A 1,200
01 2o 10,800 12,000 A 1,200
SMN2Y (A, HOIL &4 E)
10,800, 000 10,800 12,000 A1,200
HESS(SIAML)(BHES/MGISEE - 7)) 258,690 250,460 8,230
[SFShNES 8,230 0 8,230
BXI0E2 8,230 0 8,230
802 BtEt=2D|E} 8,230 0 8,230
02 Al - SHIEZZ2PtE2 8,230 0 8,230
OANGCHBEEZZEE2 8,230 0 8,230
—QUotMESER2 0 =2 24
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